[}  SI/BSID ‘SU-NITVYHALSIM O2143a3d4
0c0zc/ZLI9L 1$s9lY Jwinp 1-1000/£5€'68.°LT
o103 | dsay Va1l s$309voldIa3 - 403
viva :9jusuodold
3
¥.'€86'61 ($4) openwnay
¥.'€86'61 ($Y) eeoted
oo,oov AQOV opegnwnoy .vm,mwm.m_. AVOILYEA 3 TVINOZIYOH O<0<N_._<z_m [0R74
001 (%) eleosed
1G'81Le/22 | 9858’18l £¥'/26°06 ($4) openwnoy
LL'EOV 'GP £¥'/26°06 £¥'/26°06 ($Y) ereoted
00'001 00'08 00'0% (%) opejnwinoy| /G6'gLE /22 OLNIWYIOY 3a VLSId ot
0z 00'0% 00'0% (%) efeosed
8¢'169°91 96'¢89'L 1L ($4) opejnwnoy
L¥'200°G 96'€89'L1L ($Y) eeoted
00'00L 00'0.L (%) opejnwinoy| 816991 $3415303d 30 VXIV4 0z
00'0€ 00'0L (%) eleosed
9G'c2e L1 YL'v6E0L ($Y) ope|nwnoy
Zv'626'9 PL'¥6E01 ($Y) eeosed
00'001} 0009 (%) opejnwinoy| 9G'cze L1 SIYVYNINIMIY SOINYIS oL
00'0% 0009 (%) ejeosed
Gz'/1E182 | 6.'698°Sle | 9c'eve vl | 0L'8L0C2 ($d) openwnoy
00'00L ¥1'9L L' v G8'L (%) opejnwinoy
G LG9 £¥'/26°06 9z'¥98'20L | 01'820°2C ($Y) eoosed| Gz'21€7182 TvE0T19 YAVHOONOYD
9z'ee (A4S 1G'9¢ G8'/L (%) ejeosed
($4)
14 m_mo_ma [ m_wo._ma rA m_mol_mﬂ_ L m_mo,_ma elqo ep olul| siejo| salolep wou_Ewwo._omE /Selsw sep omumc_c.__._om_v wsjl

SY - 3YLSAdV

SOdVYHHVd 'AVY YA OHO3YL
FHLSAdTV A TVdIDINNIN VENLIZdTHd
O2LLTV4SY OLNINVYIdVYO

OdITONVNI4-ODIS[d VINVIOONOYHD

‘NAW
Tvo01
:ouejaudold
elqo



